TH 6 FEEFEMHR—

AT 743 A 31 HEE

[(EBEZ])
& RiEbiiEBkE
8% T H NoRH BEH B (piaiE) g 54
(/NBEZX) 60.82% (B - 64. 34%) -3.52
7.10.30 6.10. 15 6.10. 27 -
(kt f51) 60.81% (Hi : 64.32%) -3.51
[BDFEZ])
&  FangiEss
T#mTHE|E &~ B |H& Z=E B |& == L (ool ow omo) | I
7.2.13 7. 1.9 7. 1.26 39. 67% (A7 : 62.94%) -23. 27
& FEaEmanioR® (RESEEOTME TH - SfMmog4H 29 H)
B A FHRAER HRH BeEEH P& R (i) 4 Tk
6 10. 8 40. 18%
W H T - AR L £ 5 5 ELE D 7. 1.17 7. 1.26 (F1 : 59, 5\‘4%) -10. 36
(R5. 4. 9 J3EZERF)
[ThETAT 0D ZE)
& TR RS
E%%T;ﬁo%®(2m6m)
moHT A 4 (EBME TR S s B & O OB | RER (frram) | Pk
& (LT 6. 4.26 6. 4.16 6. 4.21 MRy (Bl MEREEE) —
JI| PG HT 6. 4.28 6. 4.16 6. 4.21 HER T (B MEREEE) —
JINEIBT 6. 8. 1 6. 7.18 6. 7.23 79. 41% (7] : 84.70%) -5. 29
H T 6.10. 25 6.10. 15 6. 10. 20 MR (R M) —
A 2T 6.11. 6 6. 10. 22 6. 10. 27 82. 68% (] : HEHF ) —
& H BT 6.12. 7 6.11.19 6.11.24 MR (F M) —
KET 6.12.25 6.11.24 6.12. 1 53. 14% (Hij : MR ) —
ST 7. 1.19 6.12.15 6. 12. 22 55. 55% (ifl : MEHSD) —
& TTMEaEE RS
(1) —fBagz (2H8])
= = N
TR 4 | T B | BT | R B ®o R |B R e o
. 61. 75%
=) 7. 2.26 10 7. 2. 4 7. 2.9 » —
JIIET i - )
72.16%
B -
BT 7. 3.31 10 7. 3.18 7. 3.23 (3 + 78, 44%) 6. 28
(2) MKz (1H])
m e K 4 | K BlE &~ HBH|H ZE OB |BEXR(siaarE) | 1§ G2
ABR FE% L O R4l
S =}
eIy 14 6. 4.16 6. 4.21 (RIT : 60. 34%) REE (G 11303)
(R5. 4. 23 J3R2EHHF)




